
SAP ABAP table OIKTT {TPI:Trip planning times-for customer use (Enhancem.OIKSHPSV)}

OIKTT

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]

DLNUMBER [CHAR (10)]

SHIFT [CHAR (1)]

SHIPTO [CHAR (10)]

DISTUOM [UNIT (3)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]
 OIKTT-SHIPTO = KNA1-KUNNR 0..N

0..N

OIGS

CLIENT [CLNT (3)]

SHNUMBER [CHAR (10)]
 OIKTT-SHNUMBER = OIGS-SHNUMBER 0..N

0..N T000

MANDT [CLNT (3)]

 OIKTT-CLIENT = T000-MANDT 
0..N0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 OIKTT-DISTUOM = T006-MSEHI 

0..N

0..N

TOIGH

CLIENT [CLNT (3)]

SHIFT [CHAR (1)]

 OIKTT-SHIFT = TOIGH-SHIFT 

0..N

0..N


